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AOS sample paper

1. If three times the larger of two numbers is divided by the smaller, we get the quotient 6 and remainder 6. If five
times the smaller is divided by the larger we get the quotient 2 and remainder 3. Find the numbers.
a) (16,17) b) (7, 16) ¢) (25, 16) d) (16,7)

2. Which number should come next in the following series?

8,9,17,44,108,

a) 148 b) 233 c) 236 d) 176
3. If actual time in a clock is 3:00, then what time you will see in water image of clock?
a) 9:00 b) 3:30 c) 12:30 d)9:30
4. Find the set which is similar to the given set.
63, 49, 35
a) 72,40,24 b) 72, 48, 24 c) 64, 40, 28 d) 81, 63, 45
5. Find the wrong number in the following number series:

8, 12, 24, 64, 180, 630

a) 180 b) 64 c)24 d) 8
6. A two digit number is seven times the sum of its digits and is also equal to 12 less than three times of its digits
product. Find the number.
a) 84 b) 36 c)34 d) 93
7. Museum is related to Curator in the same way as Prison is related to :
a) Manager b) Monitor c) Warden d) Jailor
8. Find the missing term in the given series.
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9. How many such pair of letters are there in the word ‘DAREDEVIL’ each of which has as many letters between
them in the word as in the English alphabetical series? (both forward and backward directions)
a) Nine b) Four c) Six d) Seven

10. Count the number of triangles
a) 17 b) 19 c)21 d)>21

11. If North is changed to South-West and East to North —West and so on, then what will come in place of South —
West
a) North-East b) East c) South-East d) West

12. Since my birth | have had a birthday cake with candles, one for each year of my birthday, each year. To date, |
have had 325 candles. How oldam | ?
a) 25 b) 20 c) 35 d) 30

13. A regular hexagonal shape is made on the design with the help of coins of equal size as shown in figure. If the
first figure has two coins along each side of the design and second figure has three coins along each side of the
figure, then find the number of coins required to make a figure of regular hexagon using 33 coins along each side
of the hexagon.

a) 3169 b) 2884 c) 2820 d) 3441

14. Four persons Piyush , Karan, Rohan, Sunit went to four different cities; Mumbai, Delhi, Kolkata and Chennai by
different transport: car, train, bus and aeroplane. If Rohan travelled by car to Chennai. Piyush went to Mumbai
by train, Sumit travelled by bus and the person who travelled to Delhi did not travelled by bus, then who went to

Kolkata?
a) Sumit b) Rohan c) Karan d) Piyush
15. Find the missing number, if certain rule is followed either row-wise or column-wise 7 51 [ 42
a) 64 b) 54 c) 63 d) 52
9 27 | ?
14 | 42 | 84
Answer key
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